ICS 21.060.10
J 13

ot A RS 3t R E I SRR Ak

GB/T 16674.2—2016
% GB/T 16674.2—2004

NAEZEHEE HAF NERI

H;exagon bolts with flange—Fine pitch thread—Small series

(ISO 15072:2012, Hexagon bolts with flange with metric fine pitch thread—
Small series—Product grade A,MOD)

2016-02-24 Z fa 2016-06-01 3L HE




R OANR M E
H X & #
AREZEBRE HAF MR
GB/T 16674.2—2016
O AR AR AR R R AT

LB B XA B A R 2 B (100029)
LR R X = B A6EF 16 5-(100045)

M ik www.spc.net.cn
B4R . (010)68533533 &7 : (010051780238
EHZIREI. (01068523946
HEARE LR R B ERIT BN
BB BIELH

*
FF4s 880X1230 1/16 EN#K 0.75 =¥ 19 F=%
2016 42 5 A% —R 2016 4£ 5 A& —KENRI

HE, 155066 + 1-53377 E 16.00 T

MEMNKEE BAMETFOER
BREE FBRMER
IR 3% . (010068510107



GB/T 16674.2—2016

T

Bl

GB/T 16674 AR NAELHIER"RIIERIFEZ —, ZRINEHE:
——GB/T 5789 NMAELHEHIER MKXRF B%;
——GB/T 5790 ANAKZEER MKEF 4HF B
——GB/T 16674.1 NAXRZEER /DRI
——GB/T 16674.2 NA®RIZHER ST /PRI,
A EB4r 2 GB/T 16674 HI%5 2 ¥4y
AF4H R GB/T 1.1—2009 4 H B MR,
A4 GB/T 16674.2—2004C N AL L HIER 4T /NEFI), 5 GB/T 16674.2—2004
b, FEEARBHIT
— 30 12,9 MR CE 1 )
— RN B H A RE R, -+ ---GB/T 3098.6 1 GB/T 3103.1) F3k#.” (2004 4EfEE 1 3D ;
—— N e R TH BRFEHE fn - %t 8.8.9.8 & 10.9 %% GB/T 5779.1 #xE (£ 2);
— WM RE A 2L, BN RE AL CR 2);
S AR I e AR R R BORER 5 GB/T 5267.2(3% 2);
—— WA AR R S Ab B R B R GB/ T 5267.4(F 2);
— R ERICPERLENAFER . FEAZLE, REFELHEG.2),
A E A E SRS EBYCRA ISO 15072, 2012¢ k2 migie kB4 FIRe MRS ™
A% AYCEESTR) .
¥ 4r5 1SO 150722011 WHEAREEF REFEMT
MR ISO 15072 #lE . T HAFABR, - ISO 965-2.1SO 3506-1 H1#%FHEGE 1 Z), R B
FARIBAMEHAE;
— M AR, AREREREERRE G 2 ), ¥ m3 A GB/T 90.2 (& 2).
GB/T 5779.1 (& 2)#1 GB/T 1237(5.1), UHES R E & B 4 R Rlibr o ;
—— R R R B GG AN . Xt 8.8.9.8 & 10.9 %% GB/T 5779.1 & (K 2);
— MR ARERGE 2, UFESRE BB LR,
—— B BRIT R B R AL AR IE R B (5.2) , AFF A GB/T 1237 M#LRE .
A BT T GB B
BUIREZR;
— & 1SO 15072 2% SCH#R.
AFWAmFEIRTIRASRE.
A4 2 EHEE AR ARBZR & (SAC/TC 85HMD.,
Ao T RE AL PULAE = EFE L
AEASMBELN . TETHRBRERBAAFARAH.
Ao LEEEESEAERBR S HLAFTERE.
A FR 43 B AR B B i B D7 IR AR A 2 A 1 B AT
GB/T 16674.2—2004,




GB/T 16674.2—2016

RNAE=ZHER @F MR

1 HEH

GB/T 16674 BIZRIRAHE T /NRFVG T 7S F vk 2 W IR R M BN R T EAR & B FRIE .
ABABEHTFREAFRER d=8 mm~16 mm. A FEL./PNEF] . HEAELS %K 8.8.9.8.10.9,
12.9/12.9 1 A2-70. 7= @ E %K A RHAAEZWRR.

2 MIEHSIAXH

FHI XX FACHERPARES AT, LEE B BHAS] R, {0 B8R AE A T4
. LERDE B B85 HXH, REHRAE (BEFRA B RRER T4,

GB/T 2 'BE# HMESRMARIE(GB/T 2—2016, ISO 4753:2011,MOD)

GB/T 90.1 ZE@E# W2 (GB/T 90.1—2002,idt ISO 3269 :2000)

GB/T 90.2 E@EM# wHwESEEGB/T 90.2—2002)

GB/T 193 ¥EiEL HBZLHEIEZS (GB/T 193—2003,1S0 261:1998, MOD)

GB/T 1237 'BRE4#4RiEH 8 (GB/T 1237—2000,eqv ISO 8991:1986)

GB/T 3098.1 EREMHLMHEE B&. B4 fiE A (GB/T 3098.1—2010, ISO 898-1: 2009,
MOD)

GB/T 3098.6 EREMHHMIEE AERER BEETMIBHE (GB/T 3098.6—2014,1SO 3506-1:
2009, MOD)

GB/T 3103.1 EBEM#AAZE 12 12478 (GB/T 3103.1—2002,idt ISO 4759-1:2000)

GB/T 5267.1 BE#H HERE(GB/T 5267.1—2002,1SO 4042:1999, IDT)

GB/T 5267.2 'BE dJesf@eE K %R (GB/T 5267.2—2002,1SO 10683:2000, IDT)

GB/T 5267.4 Z@EMAERELE WEBASHENELE(GB/T 5267.4—2009,1SO 16048:2003,
IDT)

GB/T 5276 RE@EM4 B IR4T.IER: KBS R+ARSMirE(GB/T 5276—2015, 1SO 225:
2010,MOD)

GB/T 5779.1 EREMREHE BE BTMEE —BKEKRGB/T 5779.1—2000,idt ISO
6157-1:1988)

GB/T 5779.3 EEMEREEE BE BETMBHE RHEEKRGB/T 5779.3—2000,idt ISO
6157-3:1988)

GB/T 9145 ¥ @EIBL FEBEE MERH OB RF (GB/T 9145-2003,ISO 965-2: 1998,
MOD)

GB/T 16938 'BME M i&& 84T S MIEE EAHEARLMH (GB/T 16938—2008,1SO 8992
2005, IDT)

3 R+t

ERmAR R A 1~E 4 k1,



GB/T 16674.2—2016
RS MinER A4 GB/T 5276,

B

<= _/

-

* SkEP TR BV BRI, e b . T E B A R B B A BRI B AR 0 A B/ B R B R X i R BE Y
B ARAE W HBE M 152, f0sk T bk 1 % Y, e % AT LABI

b AZBRE HHE T,

© BEl A% (GB/T 2).

¢ g=15°~ 30°,

c WHBHE L AELE.

f REBREBENKE «<2P,

g 1 AREZERE SFGRERD

L RVAE 7 S

0.5d"}

B HAMR, A 1.
* 8] B B A BRI
b d:~ RO R (REBLER) .,

B2 NAZZERE AFRE EAERHD



0.75°+0.5°

-t

c?

6!)

c?

8b

GB/T 16674.2—2016

FR XRAEGRAR
‘¢ Edwﬁn&kwg.

b §=15"~25°,

c BAMBNLTESA.
¢ AR 5 B A LG R B

Oy

B3

&l

AAEZERELTER(ZIFRED

Al

4 SBYAAEZERRE

U% HRIBEAERGHEEED



GB/T 16674.2—2016

F1 R+t <R ivay k-3 S
L M10X1 M12X1.25
RaH M8X1 ' (M14X1.5)® M16X1.5
dXPp* M10X1.25 M12X1.5
max 3.0 3.0 4.5 4.5 4.5
a
min 1.0 1.0 1.5 1.5 1.5
e 22 26 30 34 38
bsx d 28 32 36 40 44
. L — —_ - 57
¢ min 1.2 1.5 1.8 2.1 2.4
F Rl 9.2 11.2 13.7 15.7 17.7
d. max
Ul 10.0 12.5 15.2 17.7 20.5
d. max 17.0 20.8 24.7 28.6 32.8
max 8.00 10.00 12.00 14.00 16.00
ds
min 7.78 9.78 11.73 13.73 15.73
d, max 8.8 10.8 12.8 14.8 17.2
d, min 14.9 18.7 22.5 26.5 30.6
e min 10.95 14.26 16.50 19.86 23.15
k max 8.5 9.7 12.1 12.9 15.2
Ey min 3.8 4.3 5.4 5.6 6.8
I max 2.1 2.1 2.1 2.1 3.2
1'1 min 0.4 0.4 0.6 0.6 0.6
ri max 0.5 0.6 0.7 0.9 1.0
max 0.36 0.45 0.54 0.63 0.72
73
min 0.16 0.20 0.24 0.28 0.32
4 2% 5.7 5.7 5.7 5.7 8.8
max 10.00 13.00 15.00 18.00 21.00
s
min 9.78 12.73 14.73 17.73 20.67
max 0.25 0.30 0.35 0.45 0.50
v
min 0.10 0.15 0.15 0.20 0.25




GB/T 16674.2—2016

F1(8) LXVASE-F 8
RS AR M10X1 M12X1.25
I pe M8X1 M10X1.25 M12X 15 (M14X1.5)" M16 X 1.5
L&t 1, L}
7N min max lf Le lf Ly lt le lT I, lf I,
min max min max min max min max min max
16 15.65 | 16.35 — —
20 19.58 | 20.42 — — — —
25 24.58 | 25.42 — — — — — —
30 29.58 | 30.42 — — — — — — _ _
35 34.5 35.5 | 6.75 13 — — — — — _ _ _
40 305 | 405 | 1175 | 18 6.5 14 — — — — — _

45 44.5 45.5 16.75 23 11.5 19 6.25 15 — — — —

50 49.5 50.5 21.75 28 16.5 24 11.25 20 6 16 — —
55 54.4 55.6 26.75 33 21.5 29 16.25 55 | 1 1 ---------- 2 1 7 17
60 59.4 60.6 31.75 38 26.5 34 21.25 30 16 % | 1 2 -------- 22
65 64.4 65.6 36.75 43 31.5 39 26.25 35 21 31 17 27
70 69.4 70.6 41.75 48 36.5 44 31.25 40 26 36 22 32
80 79.4 80.6 51.75 58 46.5 54 41.25 50 36 46 32 42
90 89.3 90.7 56.5 64 51.25 60 46 56 42 52
100 99.3 100.7 66.5 74 61.25 70 56 66 52 62
110 109.3 110.7 71.25 80 66 76 62 72
120 119.3 120.7 81.25 90 76 86 72 82
130 129.2 130.8 80 90 76 86
140 139.2 140.8 90 100 86 96
150 149.2 150.8 96 106
160 159.2 160.8 106 116

EMRESELTHE AQBR, WERAHERTRT c.e e, HER,

* P—I8HE,

P RATBEARRAES A .

* Lyw<125 mm,

4125 mm<l 5% <200 mm,

¢ Lp%>200 mm,

Y. BATRAMNAT.

ETBSEBAR L, B, BIRMAE [, M 1, R-T RSB AR R ] 2R ar,
AR RI(R BD{UGEA FRAEUT MK,

" lgma=lpn —0bo

lsmin=lgmnx_5P(P—& GB/T 193 *ﬂ%mﬁﬂzﬂﬁﬁ)o




GB/T 16674.2—2016

4 BEREHMS ARE

BEARFGRG| AinERLE 2.
R2 BAREZHRMS ARE

R M AEH
A &M GB/T 16938
NE 6g
[-§21g
PR GB/T 193.GB/T 9145
&4 8.8,9.8,10.9.12.9/12.9 A2-70
DLk RE —
R GB/T 3098.1 GB/T 3098.6
ERES A
NE
R GB/T 3103.1
Xt 12.9/12.9:GB/T 5779.3;
REBRHE HAth.GB/T 5779.1
AEhbr;
fa] B Ab 2 5
LB RE SR GB/T 5267.1;
SR # GB/T 5267.4
R R R R RE R GB/T 52670 | LRAEERERE GB/
IR HH R B R fth 7% m A B, B HE R B
Bk GB/T 90.1.GB/T 90.2
5 #Rid
5.1 #RieFHZ*

W ig TR GB/T 1237 &,
5.2 #RiERB

ﬁ‘@] 1:
RS d=M12X 125 AFRKEE 1=80 mm. M F A F 3R U S FHA DRI HEBESY 8.8 % %
EREAH =5 S50 A B2 E R AR,
i GB/T 16674.2 M12X1.25X 80
;.]_.‘w 2:
BREHHE d=M12X1.25 AFKE 1=80 mm F 8 41 F L/ RI NS LY 8.8 B REALMTE, = 5%
BH A G F bk 2 T R R IT |
i GB/T 16674.2 MI12X1.25X80 F
ﬂ_‘ﬂ 3:
TR ISR ATFF R ZUEE , SR 2R 32 o R
B GB/T 16674.2 M12X1.25X80 R



GB/T 16674.2—2016

M R A
(RLSE MR B %)
AAMZEZHERE

Al BEEAAABIRRAE

EEEAATTEETELE A1 ME AL

ABEAARE BITHE AAMNARERBFSGER,MMEM A B BHAERE AN E X
. BMANEARNARSHETEZ L, B BRESERMORBEENWTH L. WANERAN
il .

A2 BENEZEERRAE
BENEZEERRTERLE A1 ME AL,

B CR—-ANERZHHM. EATREEMSAARSESLNEZEERTETRRTRE
B, HERETVRE,BH CHRBEARM AT, IHANA .

w,

1\ é// -

3

\

97 { D) @\
\

ﬁw:

1—H&H; A;
2—&H B;
3—&#C,
Wemia=emps

W 4 max =€min —0.01 mm;

Tnmut=kwmino

B Al RRAETEHE



GB/T 16674.2—2016

XA1 BEMR~ LR ivays -3/ S
B A &## B ##C
IR SR
W, T, W T.
dXP b Ty w.
max min max min max min max min max min
M8X1 11.56 | 11.55 3.80 3.79 10.94 | 10.93 4 20.0 1.31 1. 30
Mi10oX1
15.02 | 15.01 4,30 4. 29 14.25 | 14.24 4 24.0 1.81 1. 80
M10X1. 25
"M12X1.25
17.33 | 17.32 5. 40 5.39 16.49 | 16.48 5 29.0 2.20 2.19
M12X1.5
M14X1.5 20.79 | 20.78 5. 60 5.59 19.85 | 19.84 5 32.5 2.55 2.54
M16X1.5 24.26 | 24,25 6.80 6.79 23.14 | 23.13 6 37.0 2.96 2.95

BlEE BRHBR
8 ,155066 » 1-53377
GB/T 16674.2-2016

EM: 16.00 G

ITENHHI: 20165E5 H30H F009B





